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Example  If two dice are rolled, what is the probability that the sum of the upturned faces will
2.,5a equal 7?
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Example If 3 balls are “randomly drawn” from a bowl containing 6 white and S black balls,
2.5b what is the probability that one of the balls is white and the other two black?
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Example An urn contains » balls, one of which is special. If k of these balls are withdrawn one

2.5d at a time, with each selection being equally likely to be any of the balls that remain
at the time, what is the probability that the special ball is chosen?
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Example A poker hand consists of 5 cards. If the cards have distinct consecutive values and

2.5f are not all of the same suit, we say that the hand is a straight. For instance, a hand
consisting of the five of spades, six of spades, seven of spades, eight of spades, and
nine of hearts is a straight. What is the probability that one is dealt a straight?
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Example In the game of bridge, the entire deck of 52 cards is dealt out to 4 players. What is
2.5h the probability that

(a) one of the players receives all 13 spades;
(b) each player receives 1 ace?
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Example A football team consists of 20 offensive and 20 defensive players. The players are to
2.5k be paired in groups of 2 for the purpose of determining roommates. If the pairing is
done at random, what is the probability that there are no offensive—defensive room-
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Example If n people are present in a room, what is the probability that no two of them cele-
2.5i brate their birthday on the same day of the year? How large need n be so that this

probability is less than 1?
q :gm wap b ossign bk dagite e
n people. |
P = W bua
Az "N bicl dawe are Hoe sare
P = {

AL ol = 265"
P = 1-@\



|al= 365 - 364 363

AR

N /&CFD*’Q

= 345 3cd - 263 o (365 -G

36s!
(265 - )

%s [

P(a) = <5é§ h>l'§é§
Eaan do singlify using s fpewad yistrfo

ﬁ
24C- 264 203 - (LS~ (a-)) nTRehs
Pla> = -
36"  nuwecfal
24, 2694 2c3 - - (265 (a-1))
T 24 245365 - - - 36S
. 65 Zed 363 | 36S - (a-1)
26S 3(&‘5 ;55 2o

3505y (- 5



- W(\_ 3651

3:(

s ()vo\rz&([n(%? decreasss an N ncs @),
Stost cw\wun»g srd youl LHd

Lo w=22 , TCAY = 0. 52473
L n=2%, P(AY = 0.49277

Wi o Few s 25 {)M@QQ, ”H/\hﬂ'ra e
\R\m\% Ho ot 4o hane « clored \ﬁ?x/‘fﬁ\&wj.

Example A deck of 52 playing cards is shuffled, and the cards are turned up one at a time until
2.5j the first ace appears. Is the next card—that is, the card following the first ace —more
likely to be the ace of spades or the two of clubs?
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